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UNIT 1. COMPUTER

1. Read the text.

Words and word combinations:

WLONOUTAWNE

electronic device — a51eKTPOHHOE YCTPOMCTBO
to receive — nonyyatb, NpUHMMaTb

set of instructions — Habop/cBoA MHCTPYKLNIA
to carry out — BbINONHATL

society — obuecTso

storage — xpaHeHue

handling — o6paboTka

transaction — onepauuns

to enhance — noseblWwaTb, yBENNMUMBATb
essential — cyLecTBEHHbIN

. tool — nHcTpymeHT, opyaune

network — ceTb

source — UCTOYHUK

analog — aHanoroBblIi

digital — undposoii

ability — cnocobHoCTb, BO3MOXHOCTb

. to determine — onpepenatb
. voltage — HanpshxeHne

discrete operation — auckpeTHoe aencTBUe

. to perform — BbINONHATbL, OCYLLECTBAATD

defense — obopoHa, 3awmTa

. to attain — pocturaTb

amount of data — o6bveM gaHHbIX
except — 3a UCKNIYEHUEM, Kpome
processing unit — BblUUCANTENBHOE YCTPONCTBO

Computer

Computer is an electronic device that can receive a set of
instructions called program and then carry out them. The modern
world of high technology could not be possible without computers.
Different types and sizes of computers find uses throughout our
society. They are used for the storage and handling of data, secret
governmental files, information about banking transactions and so on.

Computers have opened up a new era in manufacturing and
they have enhanced modern communication systems. They are
essential tools in almost every field of research, from constructing

4
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models of the universe to producing tomorrow's weather reports.
Using of different databases and computer networks make available a
great variety of information sources.

There are two main types of computers, analog and digital,
although the term computer is often used to mean only the digital
type, because this type of computer is widely used today. That is why
I am going to tell you about digital computers.

Everything that a digital computer does is based on one
operation: the ability to determine: on or off, high voltage or low
voltage or — in the case of numbers — 0 or 1 or do-called binary
code. The speed at which the computer performs this simple act is
called computer speed. Computer speeds are measured in Hertz or
cycles per second. A computer with a «clock speed» of 2000 MHz is a
fairly representative microcomputer today. It is capable of executing
2000 million discrete operations per second. Nowadays
microcomputers can perform from 800 to over 3000 million operations
per second and supercomputers used in research and defense
applications attain speeds of many billions of cycles per second.

Digital computer speed and calculating power are further
enhanced by the amount of data handled during each cycle. Except
two main types of computers, analog and digital there are eight
generations of digital computers or processing units. The first
generation was represented by processing unit Intel 8086.

The second generation central processing unit was represented
by processing unit Intel 80286, used in IBM PC AT 286. The third
generation is Intel 80386, used in IBM PC AT 386. The
microprocessors of the fourth generation were used in computers IBM
PC AT 486. There are also central processing units of the fifth
generation, used in Intel Pentium 60 and Intel Pentium 66, central
processing units of the sixth generation, used in computers Intel
Pentium 75, 90,100 and 133. Few years ago appeared central
processing units of seventh and eighth generations. They are much
more powerful and can perform from 2000 to over 3000 million
operations per second.

2. Read the text again and find out if the following
statements are true or false:

1. The modern world of high technology could be possible
without computers.

2. Few years ago appeared central processing units of sev-
enth and eighth generations.
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3. Digital computer speed and calculating power are not fur-
ther enhanced by the amount of data handled during each cycle.
4. Different types and sizes of computers find uses through-

out her society.

5. The first generation is Intel 80386, used in IBM PC AT 386.
6. Using of different databases and computer networks make
available a great variety of information sources.

3. Answer the following questions:

Nouhwpn

What is computer?

What is the main purpose of all computers?

Where are computers used?

What is the index of computer speed?

What speeds do modern computers have?

How many generations of digital computer are there?
What is the first generation processing unit?

4, Give the English equivalents for:

KoMnbloTepbl OTKPbINM HOBYIO 3pY, LMGPOBas BblYMCIUTENbHAS
MalluHa, 06beM AaHHbIX, BTOPOE MOKOMEHWe, LeHTpasibHble BblYMUCIN-
TeslbHble YCTPOMCTBA LIECTOro MOKOJSIEHUS, MPOLECcOp, MUKPOKOMIMb-
0Tep, BbICOKOE HampshXeHUe, UMMPOBbIE BbIYNCUTENIbHBIE MALLWUHBI.

5. Match the English words to their Russian meanings:

. digital computer speed

a) UeHTpasibHble 6110kM 06paboTku

. calculating power

b) Heobx0AMMbIE UHCTPYMEHTbI

. high technology

C) 2NEKTPOHHOE YCTPOMNCTBO

. banking transactions

d) cekpeTHble NpaBUTENLCTBEHHbIE
aiinbl

. discrete operation

€) undposast BblYMCIUTENIbHAs CKOPOCTb

. central processing units

f) TakTOBas YacToTa

. essential tools

g) MOLLHOCTb pacyeTa

. secret governmental files

h) 6aHkoBCKMe onepaunn

. clock speed

i) BblcOKas TexHonoruns

= O IN|O|UVI| A [WIN|F

0. electronic device

j) ANCKpeTHoe AencTBue

6. Choose the correct form of the verb:

1) The third generation ...

a) are

Intel 80386.
b) is c) am
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2) The modern world of high technology ... be possible with-
out computers.

a) could not b) could C) can not
3) Thatiswhy I ... you about digital computers.
a) is going to tell b) am going to tell

¢) am going to telling

7. Translate the sentences from English into Russian.

Digital computer speed and calculating power are further en-
hanced by the amount of data handled during each cycle. Except two
main types of computers, analog and digital there are eight genera-
tions of digital computers or processing units. The first generation was
represented by processing unit Intel 8086.
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UNIT 2. THE USE OF COMPUTERS
1. Read the text.

Words and word combinations:

to extend — npoaneBaTtb, paclwmpsTb
existing — cywecrsoBaHue

within — B npegenax

to utilize — ncnonb3oBaTb, NepepabaTbiBaTh
to replace — cTtaBuTb, 3aMeHATb

vihwn =

The use of computers

Just as television has extended human sight across the barriers
of time and distance, so the computers extend the power of the
human mind across the existing barriers.

They save a lot of time. They seldom make mistakes. It's much
faster and easier to surf the Internet than to go to the library.

In the last 10 years or so, most large businesses have become
completely depended on computers for storing and looking
information, for writing and calculating financial and mathematical
information.

Computers within a single office or building may be connected,
and they there fore form a network. Users of computers on a network
can send messages to each other utilizing the same collections of data
or information. In many offices and organizations computer message
have replaced messages written on paper, and they are now called e-
mail or electronic mail.

E-mail is a great invention, too. It's faster than sending a letter
and cheaper than sending a telegram.

E-mail saves paper and the work of moving paper from one
place to another. Workers can send and receive e-mail without leaving
their desks and their desktop computers. But computers have some
disadvantages. Computers can get viruses. Sometimes the wrong
people can make use of the information available in the wrong way.
Computers become out of date very quickly, they need to be replaced.

2. Read the text again and find out if the following
statements are true or false:

1. In many organizations computer message have replaced
messages written on paper, and they are called e-mail or electronic
mail.
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Computers can not get viruses.
They save a little time.

4, Computers become out of date very quickly, they need to
be replaced.

5. Users of computers on a network can send messages to
each other utilizing the same collections of data or information.

6. E-mail does not save paper and the work of moving paper
from one place to another.

2.
3.

3. Answer the following questions:

1. What advantages of computer do you know?

2. Why have most large businesses become completely de-
pended on computers?

3. How do we use the e-mail?

4. What disadvantages of computers do you know?

4., Give the English equivalents for:

PaclumpsaTe Cnoco6HOCTM 4YenoBeYecKoro Mo3ra, CyLLeCTBYHo-
wue 6apbepbl, SKOHOMUTbL BpeMSs, AeNaTb OWMOKM, MOMHOCTLIO 3aBu-
CUT OT KOMMblOTEpa, NMPOCMaTpuBaTh MHOPMaUMIo, MocbinaTe Co06-
LWEHNs, 3aMeHsTb CooblueHunsi, Benukoe u3obpeTeHne, He nokuAaas
CBOEro MecCrta, NocbllaTb U NOJly4aTb IMEKTPOHHYIO MOYTY, UCMNOJIb30-
BaTb MH(OPMaLMIO HEMPaBUIIbHO, YCTapeBaTb, HYXAaTbCsl B 3aMEHE.

5. Choose the correct form of the verb:
1) Computers ... viruses.

a) can get b) can got C) can getting

2) E-mail ... paper and the work of moving paper from one
place to another.

a) save b) is saving C) saves

3) Computers ... some disadvantages

a) have b) am having ¢) haves

6. Translate the sentences from English into Russian.

E-mail saves paper and the work of moving paper from one
place to another. Workers can send and receive e-mail without leaving
their desks and their desktop computers. But computers have some
disadvantages. Computers can get viruses. Sometimes the wrong
people can make use of the information available in the wrong way.
Computers become out of date very quickly, they need to be replaced.

9



ATy
tKM¢ praBﬂeHI/le AUCTAHIOHMOHHOTIO OGy‘ieHI/IH W IMOBBIILIEHHU A KBEU]I/ICl)I/II(aL[I/II/I

AHTJIMHCKUH A3BIK

UNIT 3. INTERNET
1. Read the text:

Words and word combinations:

a network — HelipoHHas ceTb

to embrace — coeanHATbL

to survive — nepexuTb

a nuclear war — aaepHas BolHa

a path — nyTb

a single route — eANHCTBEHHbIN MapLLPYT
a packet switching — nakeTHas KOMMyTauus
owing to — Bcneacteue, 6narogaps

a nuclear explosion — sAepHbIN B3pbIB
10. to knock out — BblktO4aTL

11. a fairy accurately — cka3o4HO TOYHO

12. an access — goctyn

13. areliable alternative — HagexxHas anbTepHaTuBa
14. afee —nnata

15. the wireless station — pagnocraHums

16. drastically — pewntensHo

17. to transmit — nepepaBaTtb

18. constantly — nocTosiHHO

19. to intercept — npepbiBaTh

20. encoding — 3aWMdpoBaHHbIN

21. to conduct transaction — Bectn gena

22. host — MHOXeCTBO

WLONOUTAWNE

The Internet

The Internet, a global computer network which embraces
millions of users all over the world, began in the United States in 1969
as a military experiment. It was designed to survive a nuclear war.
Information sent over the Internet takes the shortest path available
from one computer to another. Because of this, any two computers on
the Internet will be able to stay in touch with each other as long as
there is a single route between them.

This technology is called packet switching. Owing to this
technology, if some computers on the network are knocked out (by a
nuclear explosion, for example), information will just route around
them. One such packet-switching network already survived a war. It

10
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was the Iraq computer network, which was not knocked out during
the Gulf War.

Most Internet host computers (more than 50%) are in the
United States, while the rest are located in more than 100 other
countries. Although the number of host computers can be counted
fairy accurately, nobody knows exactly how many people use the
Internet. There are millions and their number is growing by thousands
each month world-wide.

The most popular Internet service is e-mail. Most of people,
who have access to the Internet, use the networks only for sending
and receiving e-mail messages. However, other popular services are
available on the Internet: reading news, using the World Wide Web,
telnet etc.

2. Read the text again and find out if the following
statements are true or false:

1. Most of people, who have access to the Internet, don't use
the networks only for sending and receiving e-mail messages.

2. Although the number of host computers can be counted
fairy accurately, nobody knows exactly how many people use the In-
ternet.

3. There are millions and their number is growing by thou-
sands each week world-wide.

4. The Internet began in the United States in 1969 as a mili-
tary experiment.

5. The global computer network, which embraces millions of
users all over the world, is the Internet.

3. Answer the questions:

What is the Internet?

Where did the Internet begin?

Why was the Internet designed?

What is the most popular Internet service?

How do people use the Internet?

How can the commercial users communicate over the In-

YNouhrwnNne

ternet:

4. Give the English equivalents for:
rnobanbHasi KOMMbIOTEPHAs CETb, slepHasi BOWHA, CaMbld KO-
POTKWI MyTb, MaKeTHasi KOMMYHMKaLMS, BbIK/OYaTb, camasi nonynsip-
Hasi cnyxb6a WHTepHeTa, UMeTb A0CTyn B WMHTEPHET, NocbinaTth 3MeK-
TPOHHYIO MOYTY, PELIMTENbHOE YBEIMYEHNE, NepeaaBaTh CoobLeHMe,
11
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NOCTOSIHHO MepexBaTblBaTb, 3alM(pPOBaHHbIE MPOrpaMMbl, BECTU
CAenku no MHTepHeTy.

5. Match the English expressions to their Russian equiv-

alents:

. a) rnobanbHas KOMMbOTEPHas
1. a nuclear explosion

CeTb

2. to send a message b) gocryn B UHTepHeT
3. a packet-switching network C) eAVHCTBEHHbIN MapLIpyT
4. owing to d) HapexHas anbTepHaTMBa
5. a global computer network €) AepHbIi B3pbIB
6. a access to the Internet f) KOMMyTaUMs NaKeTOB CETH
7. a reliable alternative g) BeCcTu caenku no NHTepHety
8. to intercept h) nepegaBaTb coobLyeHne
9. to conduct transactions on the i) NpepbiBaTh
Internet
10. a single route j) Bcneacreue, 6narogaps

6. Choose the correct form of the verb:

1) The first "hackers" ... students at the Massachusetts Insti-
tute of Technology.

a) am b) were C) was

2) Eventually they ... a group and ... the first set of hacker's
rules.

a) formed, created b) did not form, created

c) form, create
3) All information ... free.

a) should was b) should not been
¢) should be

4) Computers ... your life for the better.

a) can changed b) cannot change

¢) can change

7. Translate the sentences from English into Russian.

Most Internet host computers (more than 50%) are in the Unit-
ed States, while the rest are located in more than 100 other countries.
Although the number of host computers can be counted fairy accu-
rately, nobody knows exactly how many people use the Internet.
There are millions and their number is growing by thousands each
month world-wide.

12
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UNIT 4. DEVELOPMENT OF ELECTRONICS
1. Read the text:

Words and word combinations:
1. performance— paboyas xapaKTepucTuka; napaMeTpbl;
NMPOM3BOAUTENBHOCTb; BbICTPOAENCTBME
to predict — nporHo3mpoBaTb
capability — cnocobHoCTb; BO3MOXHOCTb
branch of science — obnactb Hayku
to embrace— oxBaTblBaTb
circuit assembly — cbopka cxembl
film technique — nneHouHas TexHonorMs
invisible to unaided eye — HeBMAWMMBIA HEBOOPY)XEHHOMY

PN hAWN

rnasy

9. toreact — pearnpoBaTtb

10. speed of response — ckOpoCTb peakumm (OTKINKA)

11. advantage / disadvantage — [OCTOMHCTBO, MpenMyLLEeCTBO
/ HepocTaTok

12. benefit — BbIroga, Nonb3a; nomMoraTb, MPUHOCUTL NONb3Y

13. to result from — Bo3HMKATb, NPOMCXOANTL B pe3yfbTaTe

14. packing density — nnoTHOCTb YNakoBKM

15. small-scale integrated circuit — Manast nHTerpanbHas cxe-
ma (MUC)

16. medium-scale 1C — cpefHsis nHTerpansHas cxema (CUC)

17. large-scale 1C — 6onblias uHTerpansHas cxema (bNC)

18. very-large-scale 1C — cBepxbonbluas UHTerpasbHas cxema
(CBUC)

19. fineline — NpeuUU3NOHHbIN; C 3NEMEHTAMU YMEHbLLIEHHbIX
pa3MepoB

20. transmission line — nuHKa nepepaun

21. waveguide — BofHOBOA

22. to emerge — nosIBNSATLCS, BO3HUKATb

23. to displace — nepemelaTb, cMeLWaTb

24. mode — BuMA, MeToA, CNocob; pexmm paboTsl

25. pattern — wabnoH, obpazeu; obpas, nsobpaxeHue

26. power — MOLWHOCTb, 3HeEprusi, nuMTaHue; npon3Bo-
AUTENBHOCTb, BbICTPOAENCTBME; CMOCOOHOCTb, BO3MOXHOCTb

13
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Development of electronics

Electronics is a field of engineering and applied physics dealing
with the design and application of electronic circuits. The operation of
circuits depends on the flow of electrons for generation, transmission,
reception and storage of information.

Today it is difficult to imagine our life without electronics. It
surrounds us everywhere. Electronic devices are widely used in scien-
tific research and industrial designing, they control the work of plants
and power stations, calculate the trajectories of space-ships and help
the people discover new phenomena of nature. Automatization of
production processes and studies on living organisms became possible
due to electronics.

The invention of vacuum tubes at the beginning of the 20th
century was, the starting point of the rapid growth of modern elec-
tronics. Vacuum tubes assisted in manipulation of signals. The devel-
opment of a large variety of tubes designed for specialized functions
made possible the progress in radio communication technology before
the World War II and in the creation of early computers during and
shortly after the war.

The transistor invented by American scientists W. Shockly, J.
Bardeen and W. Brattain in 1948 completely replaced the vacuum
tube. The transistor, a small piece of a semiconductor with three elec-
trodes, had great advantages over the best vacuum tubes. It provided
the same functions as the vacuum tube but at reduced weight, cost,
power consumption, and with high reliability. With the invention of the
transistor all essential circuit functions could be carried out inside solid
bodies. The aim of creating electronic circuits with entirely solid-state
components had finally been realized. Early transistors could respond
at a rate of a few million times a second. This was fast enough to
serve in radio circuits, but far below the speed needed for high speed
computers or for microwave communication systems.

The progress in semiconductor technology led to the devel-
opment of the integrated circuit (1C), which was discovered due to
the efforts of John Kilby in 1958. There appeared a new field of sci-
ence — integrated electronics. The essence of it is batch processing.
Instead of making, testing and assembling discrete components on a
chip one at a time, large groupings of these components together
with their interconnections were made all at a time. 1C greatly re-
duced the size of devices, lowered manufacturing costs and at the
same time they provided high speed and increased reliability.

14
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2. Read the text again and find out if the following
statements are true or false:

1) Vacuum tubes did not assist in manipulation of signals.

2) Nowadays our life it is difficult to imagine without electron-
ics.

3) The transistor had great advantages over the best vacuum
tubes.

4) With the invention of the transistor all essential circuit func-
tions could not be carried out inside solid bodies.

5) There appeared an old field of science — integrated elec-
tronics.

6) Early transistors could not respond at a rate of a few million
times a second.

3. Answer the questions:
What is electronics?
Can you imagine modern life without electronics?
Where are electronic devices used?
What was the beginning of electronics development?
. What made the progress in radio communication technolo-
gy possible?
6. What is the transistor?
7.  What aim was realized with the invention of the transistor?
8. When were integrated circuits discovered?
9. What advantages did the transistors have over the vacuum

uhwn =

tubes?

4. Give the English equivalents for:

MpuknagHas ¢usmka; nepegada u npyveM MHMOpPMaLMK; NOTOK
3/1IEKTPOHOB;  TPYAHO  MpPeACTaBUTb; HayyHble  uccneposa-
HWS; MPOMBbILLNIEHHOE NPOEKTUPOBAHME; BbIYNCNSATL TPAEKTOPUIO KOC-
MUYECKMX kopabnei; obHapyxuBaTb sIBfieHUs Npupoabl; 6naroaaps
3MEeKTPOHUKE; OTNpaBHas TO4Yka; CNOCO6CTBOBATbL YNpPaBMAEHWUIO CUr-
Hanamu; 6bICTpbIM POCT; pa3Hoobpa3ne namn; co3faHne nepBbiX KOM-
MbIOTEPOB; MOSIHOCTLIO 3aMEHWS1; MOJTYNPOBOAHWUKOBLIA  KpUCTas;
YMEHbLUMTb BeC; COKPaTUTb CTOMMOCTb; MoTpebneHne 3nekTposHep-
rMKU; BbICOKAsi HafEXHOCTb; TBEpAOTESIbHble KOMMOHEHTbLI; AOBOJSIbHO
6bICTPO... HO rOpPa3fo HWXE; BbICOKOCKOPOCTHOM KOMMbIOTEP; MUKPO-
BOJSIHOBbIE CUCTEMbI CBSA3M; NOJSYNPOBOAHMKOBAsS TexHoNorus; obnactb
HayKu; WHTerpanbHas cxema; naketHas obpaboTtka; cbopka AMCKpeT-

15
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HbIX KOMMOHEHTOB Ha KPUCTanse; CHU3MTb NPOU3BOACTBEHHbIE 3aTpa-
Tbl; 06€CNeYnTb BbICOKYHO CKOPOCTb.

5. Choose the correct form of the verb:

1) The program ... by a boy.

a) was write b) was written

C) were written

2) The computer ... to my brother by my mom.

a) were bought b) was buy ¢) was bought

3) Most of people ... the networks only for sending and receiv-
ing e-mail messages.

a) use b) did not use C) uses

6. Match the English words to their Russian meanings:

1. very-large-scale a) 6onblas HTerpasabHas cxema
2. integrated electronics b) cbopka cxemsl
C) HEBUAUMBIN HEBOOPY>XKEHHOMY

3. film technique

rnasy
4.large-scale d) cbopka ANCKpPETHBIX
KOMMOHEHTOB Ha Kpucrtanane
5. semiconductor technology €) UHTErpMpoBaHHas 3NeKTPOHMKa
6. circuit assembly f) nneHo4YyHas TexHosorus
7. application of electronic g) ceepxbonbluas MHTerpanbHas
circuits cxema
8. the Assembly of discrete h) cnocobcTBoBaThL ynpaBneHuto
components on a chip CUrHanamu
9. invisible to unaided eye 1) MPUMEHEHME 3NeKTPOHHIX
cncTeMm
10. to facilitate the control j) nonynpoBoAHMKOBbIE
signals TEXHOJIOTUM

7. Complete the following sentences using the text
above:

1) Itis difficult to imagine... ... ..... ... ...

2) Thetransistoris ... ... ... .. ... .

3) Transistors could respond .... ... ........

4) The operation ... .

5) Electronic devices ... v e eeen
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8. Translate the sentences from English into Russian.

The invention of vacuum tubes at the beginning of the 20th
century was, the starting point of the rapid growth of modern elec-
tronics. Vacuum tubes assisted in manipulation of signals. The devel-
opment of a large variety of tubes designed for specialized functions
made possible the progress in radio communication technology before
the World War II and in the creation of early computers during and
shortly after the war.
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UNIT 5. SCIENTIFIC AND TECHNOLOGICAL
PROGRESS

1. Read the text:

Words and word combinations:
to accelerate — yckopuTb

to investigate — nccneposatb
a universe — BcesieHHas

to apply — obpaluaTbcs

to improve — ynyJwartb

an ancestor — npeaok

a combustion — cropaHue

a miracle — uygo

rapid — 6bICTpbIV

10. splitting — cunbHas

11. a conquest — nokopeHue
12. a mankind — yenoseuectso
13. to overcome — npeogoneTb
14. a gravity — cepbe3HOCTb

15. to reverse — nepecTaBnsTb
16. to arouse — BbI3blBaTb

17. a concern — nHTepec

18. a treat — pa3BneyeHue

19. a courage — cMenocTb

20. to disclose — obHapyxmBaTb

WLONOIRWNE

Scientific and Technological Progress

It's difficult to overestimate the role of science and technology
in our life. They accelerate the development of civilization and help us
in our co-operation with nature. Scientists investigate the laws of the
universe, discover the secrets of nature, and apply their knowledge in
practice improving the life of people.

Let's compare our life howadays with the life of people at the
'beginning of the 20th century. It has changed beyond recognition.
Our ancestors hadn't the slightest idea of the trivial things created by
the scientific progress that we use in our every day life. I mean
refrigerators, TV sets, computers, microwave ovens, radio telephones,
what not. They would seem miracle to them that made our life easy,
comfortable and pleasant. On the other hand, the great inventions of
the beginning of the 20th century, I mean radio, aeroplanes,
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combustion and jet engines have become usual things and we can't
imagine our life without them.

A century is a long period for scientific and technological
progress, as it's rather rapid. Millions of investigations, the endless
number of outstanding discoveries have been made. Our century has
had several names that were connected with a certain era in science
and technology. At first it was called the atomic age due to the
discovery of the splitting of the atom. Then it became the age of the
conquest of space when for the first time in the history of mankind a
man overcame the gravity and entered the Universe. And now we live
in the information era when the computer network embraces the
globe and connects not only the countries and space stations but a lot
of people all over the world. All these things prove the power and the
greatest progressive role of science in our life.

But every medal has its reverse. And the rapid scientific
progress has aroused a number of problems that are a matter of our
great concern. These are ecological problems, the safety of nuclear
power stations, the nuclear war threat, and the responsibility of a
scientist.

But still we are grateful to the outstanding men of the past and
the present who have courage and patience to disclose the secrets of
the Universe.

2. Give the English equivalents for:

YCKopsATb pa3BuTUE UMBWAM3AUMM, UCCNEAOoBaTb 3akKOHbl BCe-
NEHHOMN, U3MEeHSITbCA [0 He y3HaBaHWs, Ka3aTbCs 4ydoM, BeK 3aBoe-
BaHUM KOCMOCa, BMEpBble B WUCTOPUWM YENOBeYeCTBa, BbIXOAUTb BO
BCeNeHHyto, npobyxaatb 6onbloe Konnuectso nNpobneM, npuumHa
WHTepeca, UMeTb XpabpoCTb 1 TeprneHune, 0bHapyXUTb CEKPETLI.

3. Complete the following sentences using the text
above:

1) We live in the information ... ... .cc.. weees ...

2) Scientists investigate the ... ... ... ... ...

3) These are ecological .... ... ... ...

4) It became the age of

5) Wearegratefulto .... ... ..

4. Answer the questions:
1) What accelerates the development of civilization and helps
us in our cooperation with nature?
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2) How did our life change from the beginning of the 20th
century?

3) What names does our century have?

4) What outstanding discoveries in our century do you know?

5) What are the problems of the rapid scientific progress?

5. Choose the right variant:

1) ... ... alotof computers all over the world.

a) There were b) There are

c) There is d) There was

2) ... ... ecological problem.

a) There are b) There is

c) There were d) There was

3) ... ... refrigerators, TV set, computers, microwave oven,
radio telephones.

a) There are b) There is

c) There were d) There was

4) ... .... refrigerator, TV sets, computer, microwave ovens,
radio telephone.

a) There are b) There is

¢) There were d) There was

5) ... .... names that were connected with a certain era in
science and technology.

a) There are b) There is

¢) There were d) There was

6. Match the English words to their Russian meanings:

1. the scientific progress Q) peakTuBHble ABUraTenu
2. the splitting of the atom b) Bennkne n3obperteHuns
3. the conquest of space C) aTOMHbIN BEK

4. the gravity d) 6eckoHeYHbIN psig

5. investigation €) YyenoBe4vecTso

6. a mankind f) nokopeHne KocMoca

7. the great inventions g) Hay4HbIV nporpecc

8. the atomic age h) rpasuTauus

9. jet engines i) pacwenneHne atoMa
10. the endless number j) uccnepgosanne
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7. Translate the sentences from English into Russian.

Let's compare our life nowadays with the life of people at the
'beginning of the 20th century. It has changed beyond recognition.
Our ancestors hadn't the slightest idea of the trivial things created by
the scientific progress that we use in our every day life. I mean refrig-
erators, TV sets, computers, microwave ovens, radio telephones, what
not. They would seem miracle to them that made our life easy, com-
fortable and pleasant. On the other hand, the great inventions of the
beginning of the 20th century, I mean radio, aeroplanes, combustion
and jet engines have become usual things and we can't imagine our
life without them.

21



AT
tKMCp YnpaBJieHHe JUCTaHLIMOHHOT0 06y4yeHUs Y NOBBIIIeHUsT KBaTUPUKALUU
& 5

. AHTJIMHCKUH A3BIK

LIST OF LITERATURE AND THE INTERNET
RESOURCES

1. http://festival.1september.ru/articles/212547/

2. http://www.alleng.ru/engl-top/001.htm

3. http://www.interactive-english.ru/testy-po-
grammatike/239-continuous-test/

22



